
Sheet4

ページ 1

製品ｺｰﾄﾞ 展開図番号 部品ｺｰﾄﾞ 品名 要数
526207 001 426205010 ﾒｲﾝｽﾌﾟｰﾙ 1

526207 002 426205780 ﾊﾞﾙﾌﾞﾌﾞﾂｼﾕ 1

526207 003 426205870 ｼﾔﾄﾙ 1

526207 004 426205830 1

526207 005 426205840 1

526207 006 426206060 ﾊﾞﾙﾌﾞﾎﾞﾃﾞｰ 1

526207 007 426205080 ｻｲﾄﾞｶﾊﾞｰ 2

526207 008 426205850 ﾊﾞﾙﾌﾞﾋﾟﾝ 1

526207 009 426205140 ﾘﾐﾂﾄﾚﾊﾞｰ 1

526207 010 426205100 ﾘﾐﾂﾄｶﾞｲﾄﾞ 1

526207 011 426205460 ﾘﾐﾂﾄｼﾔﾌﾄ 1

526207 012 426205110 ﾁｴｰﾝﾚﾊﾞｰ 1

526207 013 426205860 ｽﾄﾂﾊﾟｰ 1

526207 014 426205470 ｱﾝﾀﾞｰｶﾊﾞｰ 1

526207 015 426205810 ｴｷｿﾞｰｽﾄﾌﾟﾚｰﾄ 1

526207 016 136102151 ﾊﾞﾙﾌﾞﾊﾟﾂｷﾝ 1

526207 017 136102153 ｱﾝﾀﾞｰﾊﾟﾂｷﾝ 1

526207 018 137402022 4

526207 019 137402021 1

526207 020 130802209 ﾊﾞﾙﾌﾞｽﾌﾟﾘﾝｸﾞ 1

526207 021 136406025 ﾊﾞﾝﾊﾟ 2

526207 022 426205880 ﾌﾟﾛﾃｸﾀ 1

526207 023 131117004 2

526207 024 131103003 2

526207 025 131103014 4

526207 026 131103016 2

526207 027 131704030 1

526207 028 131704035 2

526207 029 131905008 2

526207 030 131904008 1

526207 031 132804010 6

526207 032 132110008 2

526207 033 132104005 3

526207 035 131309008 1

526207 036 131309005 1

526207 037 130301022 2

526207 038 130790008 1

526207 039 130406017 3

526207 040 130602112 1

526207 041 134703050 1

526207 050 426205790 ﾓｰﾀｹｰｽ 1

526207 051 426205180 ﾘﾔﾌﾟﾚｰﾄ 1

526207 052 426205160 ｼﾘﾝﾀﾞｰ 1

526207 053 426205150 ﾛｰﾀ 1

526207 054 426205170 ﾌﾛﾝﾄﾌﾟﾚｰﾄ 1

526207 055 137102018 ﾍﾞｰﾝ 6

ﾊﾞﾙﾌﾞｼｰﾄ R

ﾊﾞﾙﾌﾞｼｰﾄ L

ｻｲﾚﾝｻｰ S

ｻｲﾚﾝｻｰ F

Oﾘﾝｸﾞ AS568-004

Oﾘﾝｸﾞ S-5

Oﾘﾝｸﾞ S-16

Oﾘﾝｸﾞ S-20

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M4X30

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M4X35

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾀﾝﾎﾞﾙﾄ M5X8

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾀﾝﾎﾞﾙﾄ M4X8

ﾛﾂｶｸｱﾅﾂｷｻﾗｺﾈｼﾞ M4X10

ﾛﾂｶｸｱﾅﾂｻﾄﾒﾈｼﾞﾋﾗｻｷ M10X8

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾋﾗｻｷ M4X5

ﾋﾗｻﾞｶﾞﾈ  M 8 ｺｶﾞﾀﾏﾙ

ﾋﾗｻﾞｶﾞﾈ  M 5 ｺｶﾞﾀﾏﾙ

ｽﾅﾂﾌﾟﾘﾝｸﾞ H-22

ｽﾅﾂﾌﾟﾋﾟﾝ  8

ﾍｲｺｳﾋﾟﾝ 3X7.5(H7)

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ 2.5X12

ｲﾝﾚﾂﾄﾌﾞﾂｼﾝｸﾞ (ｽｸﾘｰﾝﾂｷ)



Sheet4

ページ 2

526207 056 130402049 ﾉﾂｸﾋﾟﾝ 1

526207 057 130113003 2

526207 058 131103044 1

526207 059 131705014 3

526207 060 130302012 1

526207 070 426205410 ﾌﾞﾚｰｷｶﾊﾞｰ 1

526207 071 426205400 ﾌﾞﾚｰｷﾋﾟｽﾄﾝ 1

526207 072 426205430 ﾌﾞﾚｰｷﾃﾞｲｽｸ 1

526207 073 130408079 ｷｰ 1

526207 074 130802207 6

526207 075 131103047 1

526207 076 131103042 1

526207 077 131705030 2

526207 078 132104005 1

526207 090 426205210 ﾎｲｰﾙﾊｳｼﾞﾝｸﾞ 1

526207 091 426205350 ﾁｴｰﾝｶﾞｲﾄﾞ 1

526207 092 136610025 ﾁｴｰﾝｾﾊﾟﾚｰﾀ 1

526207 093 426205230 ｽﾍﾟｰｻｰ 1

526207 094 130116005 1

526207 095 130113010 1

526207 096 131103004 2

526207 097 131102006 1

526207 098 130606045 2

526207 099 131705014 2

526207 100 42621592C 0

526207 101 138040033 0

526207 110 426205240 ｹｰｼﾞ 1

526207 111 426205250 ｽﾀｰｷﾞﾔ 3

526207 112 426205260 ﾋﾟﾝ 3

526207 113 426205270 ｽﾗｽﾄｶﾗｰ 6

526207 114 426205290 ﾋﾟﾆｵﾝ 1

526207 115 426205300 ﾎｲｰﾙ 1

526207 116 426205310 ｷﾞﾔｹｰｽ 1

526207 117 426205320 ﾘﾝｸﾞｷﾞﾔ 1

526207 118 426205890 ﾛﾂｸｽｸﾘﾕ 1

526207 119 426205900 ﾌﾞﾚｰｷﾌﾟﾚｰﾄ 1

526207 120 130112806 2

526207 121 130113003 2

526207 122 130170013 6

526207 123 131103047 1

526207 124 131103004 1

526207 125 131705014 3

526207 126 130302025 1

526207 127 130302012 3

526207 128 130301024 2

526207 129 130603006 1

526207 140 420810PAE 1

526207 141 426205570 1

ﾍﾞｱﾘﾝｸﾞ 6901

Oﾘﾝｸﾞ  S-63

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M5X14

ｽﾅﾂﾌﾟﾘﾝｸﾞ  S-12

ｽﾌﾟﾘﾝｸﾞ 12X13.8X1.6

Oﾘﾝｸﾞ S-70

Oﾘﾝｸﾞ S-56

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M5X30

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾋﾗｻｷ M4X5

ﾍﾞｱﾘﾝｸﾞ 16005

ﾍﾞｱﾘﾝｸﾞ 6910

Oﾘﾝｸﾞ  S-6

Oﾘﾝｸﾞ G-50

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ    6X45

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M5X14

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP

ﾁｴﾝ 4XP12X3.3M

ﾍﾞｱﾘﾝｸﾞ 6806

ﾍﾞｱﾘﾝｸﾞ 6901

ﾆｰﾄﾞﾙﾍﾞｱﾘﾝｸﾞ KT81211

Oﾘﾝｸﾞ S-70

Oﾘﾝｸﾞ  S-6

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M5X14

ｽﾅﾂﾌﾟﾘﾝｸﾞ  S-25

ｽﾅﾂﾌﾟﾘﾝｸﾞ  S-12

ｽﾅﾂﾌﾟﾘﾝｸﾞ H-24

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ    3X 6

ﾌﾂｸ (ｸﾛ-ﾂｷ)

ﾌﾂｸｴﾝﾄﾞﾋﾟｰｽ(ｸﾐ)



Sheet4

ページ 3

526207 142 42620593E 1

526207 143 426205800 1

526207 144 426205910 1

526207 145 130121103 1

526207 146 131103017 1

526207 147 131706018 2

526207 148 132805018 2

526207 149 131905010 1

526207 150 131305005 1

526207 151 134605006 1

526207 152 131310006 2

526207 155 137602010 1

526207 157 131756030 2

526207 158 130802093 4

526207 159 130802081 2

526207 160 426206941 ﾏﾆﾎｰﾙﾄﾞ 1

526207 161 136608250 ﾌﾞｰﾂ 2

526207 162 137291310 6

526207 163 137240520 3

526207 164 131103008 2

526207 165 131705035 2

526207 166 130603010 2

526207 167 420215VBC 1

526207 168 420215V6C 1

526207 170 134803040 1

526207 171 137309269 ﾈｰﾑﾌﾟﾚｰﾄ 1

526207 172 137309268 ﾌﾟﾗﾝﾄﾞﾈｰﾑﾌﾟﾚｰﾄ 1

526207 173 136503003 1

526207 701 420810PE1 ﾌﾂｸ 1

526207 702 420620P11 1

526207 703 131704028 1

526207 704 130802046 ﾌﾂｸｽﾌﾟﾘﾝｸﾞ 1

526207 705 134501004 1

526207 706 426205931 ｽｲﾍﾞﾙﾌﾂｸ 1

526207 840 420810PAE 1

526207 842 42620593E 1

526207 855 42620557G 1

526207 856 42620593G 1

526207 863 137240923 1

526207 867 420215VBC 1

526207 868 420215V6C 1

526207 869 420215VBD 1

526207 875 426205950 ｼﾞﾖｲﾝﾄﾒﾀﾙ 1

526207 881 137309262 1

526207 882 137309265 1

526207 883 137309264 1

526207 940 420810PAA 1

526207 942 42620593A 1

ｽｲﾍﾞﾙﾌﾂｸ(ｸﾛｰﾂｷ)

ｱﾝﾀﾞﾌﾂｸﾎﾙﾀﾞ(ｸﾐ)

ﾌﾂｸｽﾗｽﾄﾌﾟﾚｰﾄ(ｸﾐ)

ｽﾗｽﾄﾍﾞｱﾘﾝｸﾞ  51103

Oﾘﾝｸﾞ S-22

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M6X18

ﾛﾂｶｸｱﾅﾂｷｻﾗｺﾈｼﾞ  M5X18

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾀﾝｺﾈｼﾞ  M5X10

ﾋﾗｻﾞｶﾞﾈ  M 5

ｻﾗｻﾞｶﾞﾈﾅﾂﾄ M6

C,Sﾖｳ ｽﾌﾟﾘﾝｸﾞﾜﾂｼﾔｰ  M 6

ﾁｴﾝ 3X26X6X2M

ﾃﾞﾝﾃﾞﾝﾎﾞﾙﾄ M6X30

ﾆｼﾞﾕｳﾘﾝｸﾞ 27

Sｶﾞﾀﾜｲﾔ (ｼﾖｳ)

ﾁﾕｰﾌﾞﾌｲﾂﾃｲﾝｸﾞ HB-8A PT

ｳﾚﾀﾝﾎｰｽ 2m HB-8 ｱｶ

Oﾘﾝｸﾞ S-10

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M5X35

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ    3X10

ﾍﾟﾝﾀﾞﾝﾄﾊﾞﾙﾌﾞCP

ｴﾏｰｼﾞｴﾝｼｰﾊﾞﾙﾌﾞCP

ﾈｼﾞﾂｷﾎ-ｽｽﾃ-ﾑ  3/8 X 1/2

ﾎﾟﾘｾﾝ   3/8

ﾌﾂｸｾﾌﾃｲｸﾛ-

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M4X28

Uﾅﾂﾄ  M4

ﾌﾂｸ (ｸﾛ-ﾂｷ)

ｽｲﾍﾞﾙﾌﾂｸ(ｸﾛｰﾂｷ)

ｱﾂﾊﾟﾌﾂｸ ASS

ｱﾝﾀﾞﾌﾂｸ ASS

ｳﾚﾀﾝﾎｰｽ 100M HB-8 ｱｶ

ﾍﾟﾝﾀﾞﾝﾄﾊﾞﾙﾌﾞCP

ｴﾏｰｼﾞｴﾝｼｰﾊﾞﾙﾌﾞCP

ﾍﾟﾝﾀﾞﾝﾄﾊﾞﾙﾌﾞASS (ｴﾏｰｼﾞｴﾝｼｰﾂｷ)

ﾈｰﾑﾌﾟﾚｰﾄ(ﾊﾘﾝﾄﾝ) AH500

ﾈｰﾑﾌﾟﾚｰﾄ(ﾊﾘﾝﾄﾝ) AH250

ﾌﾞﾗﾝﾄﾞﾈｰﾑﾌﾟﾚｰﾄ(ﾊﾘﾝﾄﾝ)

ﾌﾂｸ (ｸﾛ-ﾂｷ)

ｽｲﾍﾞﾙﾌﾂｸ(ｸﾛｰﾂｷ)



Sheet4

ページ 4

526207 943 420810PE0 ﾌﾂｸ 1

526207 944 420620P10 1

526207 945 130603024 1

526207 946 426205930 ｽｲﾍﾞﾙﾌﾂｸ 1

526207 955 42620557C 1

526207 956 42620593C 1

526207 963 137240921 1

ﾌﾂｸｾﾌﾃｲｸﾛ-

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ    3X24

ｱﾂﾊﾟｰﾌﾂｸ ASSY

ｱﾝﾀﾞｰﾌﾂｸ ASSY

ﾍﾟﾝﾀﾞﾝﾄﾎｰｽ    100M


	Sheet4
	Sheet1

